WA Mg ORUEg. ZHEHleH TR 75
WA 2. 1 —u ke KA _H] %> FUA AL 1

—. BEEHR GERBMR. BBBER. BEER
(1) FEIRBC T, SBR[,
(2) & HBC T M — 0 IR T2
(@Aﬂﬁ TG IR IT REAR R 50
—L BEFEA. ER
o I IR R AR
ME S FE T YRR A 5% )

=L AR (3. A BHESED
M. (B EEESE)

M. #ikE¥E

WAl WP REMENHBERIETF S RHBEE.

121 N 7 L N 2% I 57 NS €N
T, RETES

FERAT B 5 SRS I ER, A ST RER . ppt BRIF . B e #E, SERiRE B
F252]

N HEARSSR RO
) . KBRS
— LU RR I E X7

=) . BAFR

Wi — e T R A LR 2

W, A S AR, K 20em, %K

dem, 6% I #0401 % — A FRER I X 20— x

RENNAX LA REATE, REHE -
7, RTEIERT #7 G AR TR

7mm,%&%ﬁ%%&@£ﬁ&%%ﬁ%£ﬁl4{ 14-2x

77 1

B BOIE N ERRRIE N x, WA TR 3

T+ 75 % B K2 (20-2x)em, - 5 A2 (14-2x)em. f) 35 \

AU S TT e .o

(20-2x)(14-2x)=72. e 20

e, 15 x2-17x+52=0.

PR x BT

(=)« PHEEHR
HERETE £, ks R N T
(1) —JC IR &
(2) —70 R — B
(3) fR—C T RIS A I 12

(4) el — 8 = IR JT RE AORR KA A AR (75 0 2
1



GRS RS M BRI, ZEHIA PR P,
Q W2 | L YT ES N PNC S T

(5) 4nf] FHBE 7 VR — 0 Ik 2
(6) BRATH T2 ST FE s ) 7 0Lk i) 8 2
FRYE IR AT E 5], — S BT 22 0
L TILIRARE, BRI, R B AR SR AU 2 R R — o Ik R
. T IL IR RERI — RE 3 ax®tbx+c=0 (a#0)
1. fE—IC IR RERIEAR T EA SRR AR, BRI, BAEME R k.
—bxb' —4ac

4. ax*+bx+c=0(a70) RIP A 1 xp, 0= —— 5 ( b*~4ac=0)
a
5. — L IRTTREMIRR B A=b*4ac
(1) A>0 <> —J0 IR TTFEA PN ASAH A 1) S EA
(2) A=0<> —JC IR TTFEE P AH S5 I SRR
(3) A0 —TC IR ITRE M BAT SEHUR -
6. LIRS REW KRR (FikeH)
BT ax+bx+c=0 (a7 0) MIPHHLA xi, xo, WM R a. by ¢ KREN:

[NCR

b c
X1 FXo=——3 X[ Xo=—
a a

[ A 5] R g7 ]

B 1 ARV — T IR

x24+2x-3=0

it I, 19 x*+2x=3, BT, 3 x*+2x+12=3+12

B (x+1)2=4. T FF, 15 x+1=—2 Bf x+1=2

fiff 13 x1=-3, x2=1 Fir LA 7 FE AN AR -3, 1

% 2 R BC T A7 T 7 2x*-Tx+3=0

AT RANHREA ZIRIRECE 2, ATETE, EZRIAK A1, Fik 2 R 0wk
HRER LA 2,

it AR TFEMBLERL 2, 13

. 7 3
oLy 2
X 2X > 0
R , 7 7., ,7., 3
, B xSyt (L)(S)2=
7, 19 x 2x(4) (4) 5 0
e 4l 7 2—
P, Taa(xfz) =
T2 x-

Bl xi=3, =xo~

=t

-l;\\l

A $@%ﬁ%%%%%&€ﬁomﬁ%§&ﬁﬁ¢mw,m?mﬁg,&F%,N#%ﬂ

13 FIH LR TR 3x*-16x+5=0
I TR A ) IR =R A R
fig  JRITRERTARTE A (3x-1) (x-5)=0
# 3x-1=0 B} x-5=0
Bl 5=, x=H
U B EM R R0 S i — oo RO R R T SRR A R R HE AT
2



RFEAR: B FRRPE. ZEH 4 e I [e=r
PR 2.1 — 0 IR KM, H. %2 ESE AL 1

FCTTVENAS B SRR A XHEE T, [RINECO7 B R VF 2 T AT 2 R, R, 2
FARI M T RE MR i, R RUE 2 1

[HTEX]

1. 3

W IR RE ax®thx+e=0 (a7 0) FIAR A2 IR A = » A0, HFA _ sE
B HA=0, AMA___ HSEER: MAOR, _ SEHUR.

@ xM6x+ =(xt+_)?

) x*x+__ =(x—_)°

(4)x*4+8x+  =(x+ )2 x>+ =(x—_ )°?

(5) T 2x*+3x-1=0 #1, A=__, WHEAEMA__Heil

(6) 715 2x>-2x+8=0 1, A=__, BL7RE___ SEHUR

(MDH k= B, HEK3)x*+x-5=0 A2 0 — R Tz,

(8)25(x-1)%=16, Njx=

2. I FEE

(1) ©HI—JC IR TR *+3x-4=0 BIPMRA xiv x0T x1 @ xo B2 ( )
A, 4 B. -4 C. 3 D. -3

Q) #F x, =R ZIXHE 2 —3x+1=0 KM, W o+ MEZLC )

5 9 11

A. 2 B. 1 C. ) D. 7

(3) —JC IR T FE x*4x+3=0 HIf#E N ( )

A, x=3 B. x=1 C. x=38{x=1 D. x=-3 8 x=-1
3. HR R Mg T 5071

(1) x*+7x+6=0 (2) y*~7Ty-60=0 (3)6x°-31x+35=0 (4) 3x*-2x-1=0
4. ARG TTHE

(1) x*+2x-2=0 (2)2y*-8y-1=0

25>]: P23 1-2

QUPENE & VY-
ANEE TS T — 0 RO RO . R, (RS AR e S X )

(H) . YMrERB
T ARt 2, EoR2pAE R N EZ g .

(7))« AEE
WEH BRI & LR E N g, SRR & EREL
P :
1. S5 AT R

(1) x*-6x+4=0 (2)2x%-5x-1=0 (3) x*+4x-12=0
2. By AR 150em’ (KT B, MHERKILTEE dem, MR KA % &2 2 /D2
P30  3-5



